Lesson 1.6 Demonstrating combustion reactions

In a chemical reaction, the numbers of atoms at the start is the same as the number of atoms at the end.

The reaction just rearranges the atoms.

Carbon dioxide = CO2 
= carbon + oxygen x 2






= carbon + oxygen + oxygen

Water = H20

= hydrogen x 2 + oxygen





= hydrogen + hydrogen + oxygen

Carbon monoxide = CO
= carbon + oxygen

In any chemical reaction, the total number of any sort of atom must be the same at the start as at the end.

Balancing Equations

Balance the following equations

Mg + 0 




MgO

Ca + O2




CaO

NaOH + H2SO4


Na2SO4 + H2O

Fe2O3 + CO


Fe + CO2

Al + Fe2O3



Al2O3 + Fe

C2H5OH + O2



CO2 + H2O

